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Х+9=12

Работа в 
паре
стр. 89, №5

1 2

3





Х+9=12
Х=12-9
Х=3
3+9=12
   12=12

12-х=9
Х=12-9
Х=3
12-3=9
    9=9

Х-9=12
Х=12+9
Х=21
21-9=12
    12=12

1 2

3





Было - ?

Подарил -

Осталось подарить -



 

Задача.
6+8 = 14 (п.) – было у Деда 
Мороза
Ответ: 14 подарков.



Было – 14 п.

Подарил -

Осталось подарить -



Было – 14 п.

Подарил -

Осталось подарить -



a+7
a>7

Х+7=10



a=5см, b=4см, Р-?



а = 5 см
b = 4 см
Р = а + b + a + b
P =



     28+52
 
Ум хорошо…

35+15

узла не завяжешь.

     100-50

Одной рукой…

100-20

…а два лучше.



Ум - хорошо, а два 
лучше.
Одной рукой узла не 
завяжешь.



У меня всё 
получилось

Было сложно




